[a\ R =)

<t I~ To AT

0 1o s

ful

7} 10, 100, 1000, - -

Q=

9l B4 e}
o] ojgLe},

1000, - --




A4E 7|dEsE F el A2 ol AdY7R
13 341 9
0.52=-"2 0.682="— 1.45=1—
- 2 83 N 5?82 ? 20
@ 2.405=2% ® 2.816—21—25
405 81
@ 2.405 = 2—1000 =




= % 0328 77 A g2 25 o= AY

32 16
D o0 @ = ® @ —

~&B

32

16 32

5 ~ 100 032
8 32

2% ~ 100 032
64 32

200 ~ 100 ~ 032
8 40

20 100 04




8
HAL.

5|

5! Lo

L=
T

Lo 58 0h 2, Rl

) 7

7t g o iy

L
T

ot

Utk 95950

, 0.375L

‘m.o
<

@ FZ,0.3L ©)

,2.5L

, 0.3L

go

@ =

=2.5L

2
10

o7k BHAl % 2

=2.875L

i
8

o FZo]7} w4l oF 2

o

0.375L ¢ vtxlEY

Wom 2875-25=

ol 4

%

Al

B%0]7} o}




>
> HE 15625

625 X 25 = 15625 = 6.25 X 2.5 = 15.625




6.

o A Ba [ e BojZ 4ot A MgE Ag n2A
°.
0ax17xa2— 3 32 [ ] ]

] w0 0 [ |~

@® 100, 17,1632,10000, 1.632 @ 100,17,1632,1000, 1.632
@10, 17,1632,1000, 1.632 @ 100,17,1632,1000,16.32

® 10,170, 1632, 1000, 16.32

3 17 32 1632
0'3X1'7X3'2_1_OXEXE_W

ot2bA 10, 17, 1632, 1000, 1.632 LYt}

= 1.632




Brnot B 56 330, 452 JERH 0.8 ¢ B4t o]w AY
Y7k
20 25 30

10 15
O @5 Wyp &5 0O

B ~

1028 Do sge i) "oiA4) ghgint,

157 30 35
15 = (.75, 20 =080|R&
20 25

e v,




40 271E Hlasto] O ¢l >, <, = & 9 BeAL.

43
22° 024
50 ©
» £
> =g >
43 43 86
920 9422 91 > 940,86 =286 O] 2= 24 <286
= +50 +100 +0.86 86 ©| <
4
o4<2X
50
24 4 4 43 i
2 Zo]) 24 = 2= = 9- o= 2— 2 H|W3}IH
(e =) 10 1o 219 o 250 = M

4 43)
— 9%
(2 107 750

20 43) 20 43

4 43 43




e F Mg 2 Sk ol AQUA

1 14 83
z . ki 1——
@ 1002 @ 15 @ 1208 @ 1 ® o5

B

1
1-=1.5
@ 2

14
1—=1.
@ = 56

83
— =1.664
@1 125




10.

Ha

A3 A

rlo
9
|r
vl
jins
i
N

pv)

389 x 49 = 19061 Yufj, A o] 2

@® 389 x4.9=1906.1 @389 % 0.049 = 1.9061
® 389 x0.49 = 190.61 @ 3.89%x49 =190.61

® 0.389 x 49 = 19.061

B ~

1
389 x 49 = 19061 2] oFHo] — A3}~
@ 389 x 9061 2] oFH o 1000ao}1

1 1
49X —— = —
389 x 49 x 1000 19061 x 1000

389 x 0.049 = 19.061




11. ©l o1& & @0l Eo1Z 9] 2 vjlx] 1A 2.
95x[ @ |=095

0.816 x =816
> E: Hj

[> e 100000 B

95 x 0.01 = 0.95, 0.816 x 1000 = 816
@ = 0.01, © = 1000
whA], 1000 2 0.01 2] 100000 8f YT},




TR AL BT x L9 g TS

26 128 3328
6128 = 2 x -2 292% _ 3398
26X 128 =2 x — = T

=
[=

[ 2
> == 1000

26 128 3328

- — 3.398
26> 1.28 = 75X 700 = 1000

w2tA 1= 10, L= 100
Ix L= 10X 100 = 1000




13.

LS vEA A2 AL ol AYU7?

D 2x02=14 @ 3x0.03=0.9

@5 % 0.005 = 0.025 @ 2.3 x0.002 = 0.046

® 4.5%0.003 =0.135

B

Ed Al4ts B2 1 X9E o2 254
D2x02=04

@ 3 x0.03=0.09

@ 2.3 x0.002 = 0.0046

® 4.5 x0.003 = 0.0135




14. thgolA Fol AL £AYR 17|58 240,

@ 45.3x206.3 © 4.52x20.63

© 452 x2.06 ® 4520x0.2

iy

it

0
i

0
o

VVVYYVYVY
i
o ® @

0
m

~&B

@ 45.3 x 206.3 = 9345.39

© 4.52 x 20.63 = 93.2476

© 452 x 2.06 = 931.12

@ 4520 x 0.2 = 904

9345.39 > 931.12 > 904 > 93.2476°| 2.2

&0l 2 AUz IS £2H O, ®, 6, OYYh




15.

>
o
o
rr
2
)
o

e o) AH) Ag o) § L )3t g, A7) Ag

£ A0, 47 72k £ W AE Bba Zhgth 4007} 714

i S‘»—l

>
> & 168km

1_2_l:§_E_l:£:2011
3 21 21 21 21 21 7

o]Zlo] 72km °|B& HA A=
(72 + 2) x 7 = 252( km)
wtebA], 713HE B 7 AR

2 84 9
252 x 5 = 257 X 5= 168 (km)
1




16.

e BHE 5 10] 7P ke Ak of

51 24 23
D R

B

@ 1.02
@ 0.96
® 0.9583 - -
@ 1.05
® 0.95




17. ol® 4] 458 Bafo}
a1 ) 7

sh2 ) At kel oAl

]_

ol

> E:
21.15

& A AEstel gHY 0.271 Flsith

)+4.5 = 9.2,
)=92-45 = 47

Ab: 4.7x 4.5 =21.15

—

D 4




18.

Ytk H1A

A= 12 oo F7] FollA 0.34km S 7Hoh
= H N

B UM 93% % d5428E EQtd, 4
FofA 2 km oA QlEA] Tl L

rlo ES’E

2 i

= 37
= A

Mo

ol A 7} H33} Fojx A
= 3.162(km)




19. 2x2 =22 2x2x2 =23 2x2x2x2 =2* 4 o, <H7]|>E A IstH

S ol BT YA HAE BE F0-09 %2 FHNL
<RH7]>
1+1+1+1+1+1
3 32 33 3¢ 35 36
S
> &E D 365

B ~

1+1+1+1+1 +1

3 9 27 81 243 729
11 41 1 1 13

5 4+ =— 44— =_"...0FEHOo ol HL
3‘|’9 973"‘ +27 57 ol FEH2HY

717 Bl AL B 491 27, BAL 717 Bo] ol
tR2R 1S W F 28 e FYYT

whEbA EHA= 3x3x3x3x3x3 = 729 oW, BAH= (729-1)+2 =
364 YUt

4
?gg o|BEZ2 - © = 729 — 364 = 365 YU T}




20. eI e BHE FHHOE Lol u), 1004 W 55 £5E
LERHA L.
13579
2°4 68 10’
> E:
> =g 0.995
Bzl Bouchg e &
HEH D 1x2,2%2, 3%x2, ---, 100%x2,---
199 199x5 995
W = 0.995
1007 & 5 500 ~ 200x5 _ 1000 _




